Division par Puissances de Dix (I)

Trouvez chaque quotient.

9,13 + 102 = 44 +10° =
5,6478 + 10° = 1,2 +10°=
7013 +-10"1= 4,58 - 10 =
4,61+ 1072 = 6,9812 + 102 =
9,2 +~10% = 548 +~ 10° =
6,7 + 1072 = 4,34 + 102 =
721+1072= 1,4474 + 10 =
4,091 + 10% = 59911 + 10! =
1,1 +10%= 8,784 ~ 107 =
9,067 + 103 = 45 =10 =
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Division par Puissances de Dix (I) Solutions

9,13 + 10%>=0,0913

5,6478 + 10° = 5,6478

7,013 +10"*=70,13

4,61 +107%2=461

9,2 +10%=0,092

6,7+~ 107> =670

7,21 +107* =721

4,091 + 10* = 0,04091

1,1 +10*=10,011

9,067 + 10° = 0,009067

Trouvez chaque quotient.

4,4 +10°=4,4

1,2 +10°=0,0012

4,58 + 10 = 0,458

6,9812 + 10* = 0,069812

5,48 + 10°=5,48

4,34 + 10% =0,0434

1,4474 + 10' = 0,14474

5,9911 + 10* = 0,59911

8,784 + 107 = 87,84

4,5 +10'=0,45
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